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B¶ËVm	 … Mm¡Wr	 EHy$U JwU … 
20

{dXçmÏ¶m©Mo  Zmd : ................................................................................	hOoar H«$.… ....................

emioMo Zmd : .........................................................................................	{XZm§H$ …  ......................

à. 1)	 Imbrb AmH¥$Ë¶m§Mr Zmdo {bhr.			   (2 JwU)

		   	       	      	      		

			  ..................	  ..................	 ..................	 ..................

à. 2)	 Imbr {Xbobr g§»¶m A§H$m§V d Ajam§V {bhr.		  (2 JwU)

				    A§H$m§V	 Ajam§V

		  1) 4 eVH$ 5 XeH$ 0 EH$H$ 		  .................................

		  2) 9 eVH$ 0 XeH$ 6 EH$H$ 		  .................................

à. 3)	 Imbrb CXmhaUo gmoS>d.			   (2 JwU)

		  1)	 135 bmb JmoQ>çm Am{U 
			   257 {Ziçm JmoQ>çm {‘iyZ 
			   EHy$U {H$Vr JmoQ>çm hmoVrb?

		  2)	 565 Am§ã¶m§n¡H$s 376 Am§~o 
			   ImD$Z g§nbo Va Cabobo
			   Am§~o {H$Vr?
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à. 4)	 1)	{Xboë¶m g§»¶oMo {dñVm[aV ê$n {bhr.			   (2 JwU)

		   	 510 =  +  +  	

		  2)	{dñVm[aV ê$nmdê$Z g§»¶m {bhr.

			   800 + 6 = 

à. 5)	 605, 519, 836, 208, 479 ¶m g§»¶m MT>Ë¶m d CVaË¶m H«$‘mZo {bhr.	 (2 JwU)

		  1) MT>Vm H«$‘ : 	

		  2) CVaVm H«$‘ : 	

à. 6)	 Imbr {dMmaboë¶m àíZm§Mr CËVao {bhr.			   (2 JwU)

		  1)	ZrVmOdi 500 én¶mMr EH$ ZmoQ> d 200 én¶m§À¶m XmoZ ZmoQ>m AmhoV, Va ZrVmOdi EHy$U 
{H$Vr én¶o AmhoV?

			   EHy$U én¶o 

		  2) a‘oeOdi 200 én¶mMr EH$ ZmoQ>, 50 én¶m§À¶m VrZ ZmoQ>m d 20 én¶m§À¶m 6 ZmoQ>m AmhoV, 
Va a‘oeOdi EHy$U én¶o {H$Vr?

			   EHy$U én¶o 

à. 7)	 KS>çmimV {H$Vr dmObo AmhoV? Vo {bhr.			   (2 JwU)

		  1) 	                    	 2) 	

................................. .................................
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à. 8)	 Imbrb AmH¥$VrMm {Xbobm ^mJ a§Jd.			   (2 JwU)

		  1) nmD$U ^mJ a§Jd.                  	 2) AYm© ^mJ a§Jd.

à. 9)	 Imbrb CXmhaUo gmoS>d. (àË¶oH$s 1 JwU)			   (2 JwU)

		  1) EH$m dhrMr qH$‘V 35 én¶o Amho, Va Aem 9 dhçm§Mr EHy$U qH$‘V {H$Vr hmoB©b?

		  2) 24 ’w$bo 6 Q>monë¶m§‘Ü¶o g‘mZ g§»¶oV R>odm¶Mr AmhoV, Va àË¶oH$ Q>monbrV {H$Vr ’w$bo ¶oVrb?

à. 10)	Mm¡H$Q>tV ¶mo½¶ CËVao {bhr.			   (2 JwU)

		  1) 300 go‘r =	  ‘rQ>a  		   

		  2) 4 {H$bmoJ«°‘ =	  J«°‘		

		  3) nmd brQ>a =	  {‘{bbrQ>a		

		  4) AYm© {H$‘r =	  ‘rQ>a		


